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Find BC , CD
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  Find AB,WB,SB
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 is a right triangle and 
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 is an altitude of that triangle
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Determine 
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 is a right triangle and 
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 is an altitude of that triangle
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Find QK, QW, PK and PW
The ratio of the hypotenuse to one leg of a right triangle is 5 to 3. If the perimeter of the triangle is 60, find the length of its longest leg.
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BD=12cm.
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 is a median of (ABC

Determine the circumference of the circle

(Do not make any assumptions about the picture other than the usual ones about A,B & C being on the circle and A,D & C being collinear
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Name as many pairs of similar triangles as you can. Be sure to get the correspondences correct.

If AD=5 and DC=15, determine the lengths of all other segments pictured.
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ABCD is  kite


[image: image20.wmf]AB

BC

^



[image: image21.wmf]AB

AD

@


BD=12

AC=13

Find the perimeter of kite ABCD
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 is the perpendicular bisector of 
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Find the measure of 
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PQRS is a rhombus with diagonals 10 and 24. Find its perimeter.

Ringo walked on a path on which he only made right angle turns.  He went 3 miles North, 10 miles East, then 4 miles North  and finally 14 miles East.  If he flew straight back to his starting point, then how far did he fly?

[image: image114.emf]K




K

ABCD is a rectangle

BDFE is a rectangle

AB=4

DE=12

Determine the lengths of all other segments in the diagram 

DC=

CE=

CW=

BF=

BC=

BD=

AC=

AM=

BW=

BE=

WF=

(F  is a right (, (H is a right (, (FSG((HGJ, FS=12,FG=16,GJ=5, Find SJ
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Find the length of the altitude of an equilateral triangle with perimeter 48.

Find the length of the diagonal of a square with perimeter 48.
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TREC is a rectangle. 

PR=10 

PE=17 

CE=16 
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Find RE

In quadrilateral ABCD, 
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. (BCD=60, AB=45, BC=DC=51.  Find AD

AD=BD=8
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AB=4

Find AC
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BT=6

BK=12

KF=8

TF=22

Find the distance from B to 
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A(1,5)

B(5,11)

C(5,5)

Find the coordinates of D, the length of 
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 and the length of 
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Find the coordinates of at least twelve points that are exactly 5 units away from the point with coordinates (-4,2)
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[image: image45.wmf]
The ratio of the lengths of the legs of a right triangle is 3 to 1.  If the hypotenuse has length 40, what is the perimeter of the triangle?

A trapezoid has bases of 12 and 22.  If it's legs both are 8, how far apart are the bases?

Find the length of the median from A in SYMBOL 68 \f "Symbol"ABS where A(0,7) B(10,0) and S(30,24) are the coordinates of the three vertices.

ABCD is a rectangle.  A(3,5)   E is the intersection point of the diagonals of the rectangle. E(7,8) The sides of the rectangle are parallel to the axes.  Find the coordinates of the other three vertices of the rectangle. (Do we really need to be given that the sides are parallel to the axes?)

Find the length of the portion of the line 
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PQRS is a kite


[image: image51.wmf]PQ

PS

¹


Find PQ
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 bisects 

  Find AT
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POST is a square, PO = 12, M and K are midpoints of 
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 and 
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Find BK

Write an equation of the lines with x intercept 8 that make a 30SYMBOL 176 \f "Symbol" SYMBOL 208 \f "Symbol" with the x axis
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Find z without using a calculator or paper and pencil. Then write down your answer, on the paper with a pen or pencil. 
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Find w

SRTP is a rectangle 
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V is the midpoint of 
[image: image60.wmf]TR

 Find PR,PW,KV,VW

PR=

PW=

KV=

VW=
The three diagonals on the faces of a rectangular box are 10,8 and 12. Find the length of the longest edge of the box. The technical name for a rectangular box is rectangular prism.

Find the measure of the smallest angle of a 3-4-5 SYMBOL 68 \f "Symbol"
Find the length of a diagonal of a regular pentagon with perimeter 20.  Also find the length of the segment from the vertex that is perpendicular to the base.

A regular tetrahedron is a triangular pyramid.  All 4 of faces are congruent equilateral triangles.  What angles do the faces make with each other?
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Find SYMBOL 208 \f "Symbol"C,SYMBOL 208 \f "Symbol"D, & SYMBOL 208 \f "Symbol"A
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Find the measure of all other angles in the diagram
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In trapezoid PCAK, 
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Find PC
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ABCD is a rectangle
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AB=BD=DC=6

AC=
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The ratio of the lengths of the legs of a right triangle is 3:1. If the hypotenuse has length 40, find the perimeter of the 

triangle.
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 is one inch longer than 
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Find AP and m(P

(AP exact and m(P correct to the nearest degree)
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 (called a chord) has length 18

How far is the chord from the center of the  circle? (Exact answer)


[image: image82.wmf]B

A

D

M

C

20

32


BM=20

BC=32

AD=

BD=

MD=
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S,M, and T are midpoints of 
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[image: image87.wmf]PQ

 is vertical

Find the coordinates of Q,S,T & M

Find the lengths of 
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How far is it from (-8,2) to (-8,10)?

How far is it from (-8,2) to (6,2)?

How far is it from (-8,10) to (6,2)?

How far is it from (-2,3) to (6,y)?


Trapezoid ABCD has bases 
[image: image89.wmf] and 

ABCD

, AD=8, AB=11, 
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Determine the perimeter of the trapezoid.

Pithy Problem Number 1
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ACFJOU is a regular hexagon
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i/ Pronunciation Key - Show Spelled Pronunciation[pith-ee] Pronunciation Key - Show IPA Pronunciation 
–adjective, pith·i·er, pith·i·est. 
	1.
	brief, forceful, and meaningful in expression; full of vigor, substance, or meaning; terse; forcible: a pithy observation.


Pithy Problem Number 2
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Given the cube as pictured

All edges have length 12

Find :

FN

FH

The length of the altitude from J in SYMBOL 68 \f "Symbol"LDJ

Pithy Problem Number 3  

Everything from soup to nuts

[image: image97.wmf]S

O

U

P

L

30

24
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SYMBOL 208 \f "Symbol"LUO=30SYMBOL 176 \f "Symbol"
OU = 24

Find the perimeter of SOUP

Pithy Problem Number 4
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UF=8 ; FS=18 ; FT=6

Find the perimeter of NUTS

Pithy Problem Number 5

A triangle has sides of length 6,7 and 8.  Find the length of the altitude to the side with length 7. 
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Pithy Problem Number 6
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AB = 6

BC = 8


[image: image103.wmf]BE

 is a median


[image: image104.wmf]BD

 bisects SYMBOL 208 \f "Symbol"ABC

Find DE
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Pithy Problem Number 7
In kite ETIK m(KED=45( and m(TED=60(. EI=12

Find the length of the other diagonal and the perimeter of the kite

Pithy Problem Number 8
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is the diameter of  circle O with radius 12. C is a point on the circle. 
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 is an altitude of (CAB. m(CAB=60(. Find the length of 
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O has radius 1 and center at the origin. All of the basic central angles measure 30(. ( that is m(AOB=m(COB=m(DOC=m(EOD=m(EOF=m(FOG. Determine the coordinates of all of the points labeled. No decimal answers please. Patterns please 
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E(          ,            )              F               ,             )    G             ,          )  H         ,        )
I(          ,            )              J               ,             )    K             ,          )  L         ,        )
Find 
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